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If principal is X5000.00, ROI is 10.00% p.a., no of year(s) is 2 and interest type is simple interest computed
annually, then interest is

(i) X998.00 (ii) X999.00 (iii)) X1001.00 (iv) X1000.00 (v) X1002.00

If principal is ¥5000.00, ROl is 7.00% p.a., no of year(s) is 2 and interest type is simple interest computed
annually, then amount is

(i) X5698.00 (ii) X5701.00 (iii) X5700.00 (iv) X5699.00 (v) X5702.00

If ROl is 7.00% p.a., no of year(s) is 5 and accumulated simple interest is 3500.00 computed annually, then
principal is

(i) X9999.00 (ii) X10002.00 (iii) X10001.00 (iv) X10000.00 (v) X9998.00

If ROl is 9.00% p.a., no of year(s) is 3 and accumulated simple interest is ¥4860.00 computed annually, then
amount is

(i) X22859.00 (ii) X22862.00 (iii) X22858.00 (iv) X22861.00 (v) X22860.00

If principal is £18000.00, no of year(s) is 2 and accumulated simple interest computed annually is £2520.00, then
ROI per annum is

(i) 8.00% (ii) 6.00% (iii) 7.00% (iv) 5.00% (v) 9.00%

If principal is ¥5000.00, no of year(s) is 2 and accumulated simple interest computed annually is 900.00, then
amount is

(i) X5902.00 (ii) X5899.00 (iii) X5898.00 (iv) X5900.00 (v) X5901.00

If principal is £19000.00, ROl is 10.00% p.a. and accumulated simple interest computed annually is ¥9500.00, then
no of years is

(i) 3 (i) 7 (iii) 4 (iv) 6 (v) 5

If principal is 6000.00, ROl is 7.00% p.a. and accumulated simple interest computed annually is $1260.00, then
amount is

(i) X7262.00 (ii) X7258.00 (iii) X7259.00 (iv) X7261.00 (v) X7260.00

9. If principal is X6000.00 and simple interest amount is 6900.00 for 3 year(s) computed annually, then interest is

(i) X901.00 (ii) X902.00 (iii)) X898.00 (iv) X900.00 (v) X899.00

If principal is 10000.00 and simple interest amount is 11600.00 for 4 year(s) computed annually, then ROI per
" annum is

(i) 6.00% (ii) 3.00% (iii) 5.00% (iv) 4.00% (v) 2.00%

If the simple interest amount for a certain principal is X16120.00 for 3 year(s) at an ROI of 8.00% p.a. computed
" annually, then principal is

(i) X13002.00 (ii) X12998.00 (iii) X13001.00 (iv) X13000.00 (v) X12999.00
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If the simple interest amount for a certain principal is 27550.00 for 5 year(s) at an ROI of 9.00% p.a. computed
annually, then interest is

(i) X8550.00 (ii) X8549.00 (iii) X8551.00 (iv) X8548.00 (v) X8552.00

Find simple interest, if P = principal, T = time, R = rate percent per annum
P+T+R  PTR 100 PT
(i) (ii) (iii) (iv)
100 100 PTR 100 + R
Given Sl = simple interest, P = principal, T = time, R = rate percent per annum, find simple interest
100xSlI . 100xSlI . PTR 100 x Sl
ii (iii) (iv)
P xR RxT 100 PxT

Given S| = simple interest, P = principal, T = time, R = rate percent per annum, find principal

 PTR 100xSlI . 100xSlI 100xSI
(i) (i) - (i) - (iv)

100 PxR RxT PxT

Given S| = simple interest, P = principal, T = time, R = rate percent per annum, find rate

PTR _ 100xSI __ 100xSI . 100xSI
1] \Y)
100 RxT PxR PxT

Given S| = simple interest, P = principal, T = time, R = rate percent per annum, find terms

100xSI _ 100xSI _ 100xSI _  PTR
1 i \Y -
PxT PxR RxT 100

If the simple interest on a certain principal is 1300.00 for 2 year(s) at ROl 5.00% p.a. computed annually, then
what is the simple interest for the same principal and ROI for 3 year(s)?

(i) X1952.00 (ii) X1949.00 (iii) X1948.00 (iv) X1950.00 (v) X1951.00

If the simple interest on a certain principal is 1500.00 for 5 year(s) at ROl 2.00% p.a. computed annually, then
what is the simple interest for the same principal and duration at 3.00% p.a. ROI?

(i) X2249.00 (ii) X2248.00 (iii) X2250.00 (iv) %2251.00 (v) X2252.00



Assignment Key

1) (iv) 2) (iii) 3) (iv) 4) (v) 5) (iii) 6) (iv)
7) (v) 8) (v) 9) (iv) 10) (iv) 11) (iv) 12) (i)
13) (ii) 14) (iii) 15) (iii) 16) (iv) 17) (ii) 18) (iv)
19) (iii)

Copyright © Small Systems Computing Pvt. Ltd.



